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3.3.8
3ba (7 mwn) 2 35b (712220 Yo D973 PIITPHY 2NIYHY)

L. 7 mwn: an invalidated 2vyy:
a.Ifit: rolled outside of the mynn, was buried, burned up, nknvIY NMIN
i. If: this happened before naw started, invalid
ii. If: after dark — valid
iii. If: pav
1./ "1 0”7 we consider it Y03 an (literally — donkey driver and camel driver)
a) Meaning: we are stringent on both sides, allowing him onloy 2K mn» from his home to 211y
i. but: nothing in the other direction nor anything past the 211y
2.7 207 /7. 137Y pav is valid
II.  Analysis of 7 mwn: case by case
a. Rolled outside of oinsm: ®a1 — only if it rolled beyond &™7; but within 8”7 is accessible to him
b. Buried: we assume that it is accessible by moving the rocks
i. In which case: our mwn is contra *27, who allows maw during v”n’a
ii. Block: even »21 would agree if case is where it is inaccessible without tools (v11n)
iii. Justification (for both cases): if we only learned %%amy,
1.Then: we might think it is invalid because it is out of his domain
a) But: “buried” is valid since it is in his domain —
2.And if: we only learned “buried”,
3.Then: we might think that it is invalid because it isn’t visible
a) But: “rolled away”, which is visible, is still valid — 5"np
iv. Justification: for both “burned” and "knvy”
1.“burned”: demonstrates the extent of *01 1’s leniency
2.“8pv1”: demonstrates the extent of n™’s stringency
III.  Tangent: exploring n™’s approach to pav
a.Question: does n™ rule that pavo is R1MNY?
i. Challenge: 1-8:2 mXNpn presents his opinion in case of n%av pav
1.Either: we're not sure if he went in, or not sure if mpn had nxo 'n, or which of 2 mxnpn (only 1 9w3) he used
2.Ruling: in case of NN nxMV (i.e. 1NN n) - invalid; but in case of “n%p NRMY” (DM M) - valid
3.7p77 /7. always invalid
ii. Answer: n" holds that pmnn are n7nn 11 (> RIMINY RNOIRT PAD)
1.Challenge: n"1 holds that we may imagine that we bore straight through the mountain for mnn
a) In case: the measuring rope of 50 nnR can’t cover the slope
b) And if: he held xn»mrT pmnn, he wouldn’t allow P7Tpn
i. Per:y9’s ruling that we don’t use 1"17pn to measure for V5pn 1Y or NMY NYIY
1.Reason: those measures are NN 1N
2. Answer: this ruling is n"7’s; the ruling about 1"17pn was n" reporting what he heard — "nynv”
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